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B > N 

Conclusion I is correct. Conclusion II can’t 

be true because both are related by 

opposite signs. 

Hence Option B is correct 

16. Ans. B.  

A > B ≥ C ≤ D, C = E ≥ F 

I. A > D, FALSE 

II. F ≤ D - F ≤ C ≤ D, TRUE 

Hence, Conclusion II is true. 

17. Ans. E.  

N ≥ T > P ≤ Q, T > R, P > S 

I. T > S - T > P > S, TRUE 

II. R < N – N ≥ T > R, TRUE 

Hence, Both conclusion I and II are true 

18. Ans. E.  

M ≤ N < O ≥ P, O ≤ Q ≤ S 

I. Q > M- M ≤ N < O ≤ Q, TRUE 

II. P ≤ S - P ≤ O ≤ Q ≤ S, TRUE 

Hence, both conclusion I & II is true. 

19. Ans. C.  

G ≥ H ≥ I = J ≥ K, A ≤ J 

I. A < G, G ≥ J ≥ A, FALSE 

II. A = G, G ≥ J ≥ A,FALSE 

Hence, Either Conclusion I or II follows. 

20. Ans. B.  

N ≥ T > P ≤ Q, T > R, P > S 

I. R P ≥ Q, FALSE 

II. Q > S , Q ≥ P > S, TRUE 

Hence, only Conclusion II is true. 
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